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Solutions Manual

Chapter 03

Participating in the Market

Answers to Discussion Questions
1. Explain the difference between a cash account and a margin account.

3-1.
A cash account requires full payment for the purchase, while a margin account allows the investor to borrow a percentage of the securities' purchase price from the brokerage firm. The margin is the percentage of the purchase price that you must put down as payment. The amount allowed to be borrowed is 1 minus the margin percentage.
2. What is meant by the concept of minimum maintenance standards (or requirements) for margin?

3-2.
There is a minimum amount of margin or equity that must be maintained in the account. This is usually equal to 25 percent of current market value of the margined security (30 percent on a short sale). If one goes below the minimum standard, additional margin must be placed in the account. Actually, many brokerage houses set standards above those cited.

3. Why is bad news “good news” to the short seller?

3-3.
The short seller has sold borrowed stock with the intention of buying it back at a lower price in the future. Bad news is good news to the short seller because it will help drive down stock prices and make the later repurchase more profitable.

4. Explain what is meant by a limit order. How does a stop order differ from a limit order?

3-4.
A limit order limits the price at which you are willing to buy or sell, and assumes that you will pay no more than the limit price on a buy or receive no less than the limit price on a sell.

A stop order is similar to a limit order in that it is set to be executed at a specified price. However, a stop order is different in that it becomes a market order once that price is hit. Thus, a stop order is assured of being executed even if it is at a slightly less desirable price. A limit order can only be executed at the specified price or better and may go unfilled if there are many orders ahead of the investors at the price desired in the execution process.

5. What is the difference between day orders and GTC orders?

3-5.
A day order will expire at the end of the day if not executed while a GTC (good till canceled) order will remain in effect on the specialist's book until taken off or executed.

6. On a 100-share trade, what would be the expected dollar commission with a full-service broker, a discount broker, and an online broker?

3-6.
Full-Service Broker
$100


Discount broker
    42


Online broker
                  7

7. What is the difference between the meaning of the marginal tax rate and the average tax rate for a taxpayer?

3-7.
The marginal tax rate applies to income within a given tax bracket (10%, 15%, 25%, etc). The average tax rate represents total taxes paid divided by taxable income.

8. Why is the Dow Jones Industrial Average considered a “blue-chip” measure of value?

3-8.
Because the Dow Jones Industrial Average is made up of stocks of very high quality, it is considered a blue-chip measure of value. As an aside the instructor may point out that, blue chips have the highest value in a poker game with red chips in the middle and white chips having the least value. In China "red chips" have the highest value.

9. How is the Dow Jones Industrial Average adjusted for stock splits?

3-9.
Each time a company splits its shares (or pays a stock dividend), the divisor is reduced to maintain the average at the same level as that prior to the change. If this were not done, the lower priced stock after the split would lower the average, giving the appearance that the index had fallen.

10. What are the criticisms and a defense of the Dow Jones Industrial Average?

3-10.
The DJIA is one of the most popular indexes, but it represents only 30 blue chip stocks. It is criticized as being too selective and representing too few stocks. Its defense is that it does follow the general trend of the market and its stocks represent over 25 percent of the NYSE value.

11. Explain the price-weighted average concept as applied to the Dow Jones Industrial Average.

3-11.
Each stock is weighted by its price. Equal percentage changes in high priced stocks have more impact than the same percentage change in low priced stocks. A price-weighted index is similar to what you normally use in computing averages.

12. What categories of stocks make up the Standard & Poor’s 500 Stock Index?

3-12.
The Standard & Poor's 500 Stock Index is comprised of 369 industrials, 16 transportation firms, 48 utilities, and 67 financial firms.

13. Why was the Standard & Poor’s MidCap Index created?

3-13.
The Standard & Poor's MidCap Index was intended to answer the complaint that the S&P 500 Index only shows the performance of larger firms. By using an index of middle size firms, portfolio managers with comparable size holdings can more accurately track their performance against an appropriate measure.

14. What is a value-weighted index? Explain the impact that large firms have on value-weighted indexes such as the S&P 500.

3-14.
Each stock is weighted in the index by its own total market value as a percentage of the total market value for all firms. Total market value is equal to shares outstanding multiplied times the market price. Large firms, with significant total market value, comprise a larger percentage of the index and have more influence on the index.

15. What is an equal-weighted average? Which average has this characteristic?

3-15.
Each stock in the index is equally weighted. The weight is not determined by market price or total market value. It is as if there $100 was invested in each and every stock in the index. The Value Line Index is an equal-weighted index.

16. Fill in the table for the type of weighting system for the various indexes. Put an (x) under the appropriate weighting system.
	
	Price Weighted
	
	Value Weighted
	
	Equal Weighted
	

	NYSE Composite Index
	
	
	
	
	
	

	Value Line Average
	
	
	
	
	
	

	S&P 500 Index
	
	
	
	
	
	

	Dow Jones Industrial Average
	
	
	
	
	
	


3-16.
NYSE Composite Index

Value-Weighted
Value Line Index


Equal-Weighted
S&P 500 Index


Value-Weighted
Dow Jones Industrial Average
Price-Weighted
17. If you did not wish a high-priced or heavily capitalized firm (one with high total market value) to overly influence your index, which of the weighting systems described in this chapter would you be likely to use?

3-17.
Equal-weighted index.

18. Why might one say that the Wilshire 5000 Equity Index is the most comprehensive market measure?

3-18.
The Wilshire 5000 Equity Index is the most comprehensive index and represents


the total dollar volume of all U.S. equity issues with readily available price data


from the NYSE, AMEX, and Nasdaq stock markets. Originally the index included


close to 5,000 stocks but as the equity markets have grown it now includes


more than 5,000 stocks. By the very fact of including total dollar volume, it is a


value weighted index.

19. If the Russell 2000 Index is outperforming the Russell 1000 Index, what can you generally assume about the relative performance of smaller versus larger stocks?

3-19.
Since the Russell 2000 represents the smallest stocks out of the Russell 3000 and the Russell 1000 represents the largest stocks, you can generally assume the smaller stocks are outperforming the larger stocks.
Problems

Margin purchase
1. Assume you buy 100 shares of stock at $40 per share on margin (50 percent). If the price rises to $55 per share, what is your percentage gain on the initial equity?
3-1.
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$3,500 − $2,000 = $1,500 gain 
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Margin purchase

2. In problem 1, what would the percentage loss on the initial equity be if the price had decreased to $28?
3-2.
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Minimum margin

3. Assume you have a 25 percent minimum margin standard in problems 1 and 2. With a price decline to $28, will you be called upon to put up more margin to meet the 25 percent rule? Disregard the $2,000 minimum margin balance requirement.
3-3.
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You are still above the 25 percent minimum margin standard.

Minimum margin

4. Recompute the answer to problem 3 based on a stock decline to $23.75.

3-4.
First compute the equity position:
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You are now below the 25 percent minimum margin standard, and you will be called upon for more margin.

Selling short

5. You sell 100 shares of Norton Corporation short. The price of the stock is $60 per share. The margin requirement is 50 percent.

a. How much is your initial margin?

b. If stock goes down to $42, what is your percentage gain or loss on the initial margin (equity)?

c. If stock goes up to $67.50, what is your percentage gain or loss on the initial margin (equity)?

d. In part c, if the minimum margin standard is 30 percent, will you be required to put up more margin? (Do the additional necessary calculations to answer this question.)
3-5.
a)
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b)
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c)
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d)
To answer this question, you must compare the current margin position to the market value of the stock.
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You will not be required to put up more margin as 33 percent exceeds 30 percent.

Margin purchase and Selling short

6. You are very optimistic about the personal computer industry, so you buy 200 shares of Microtech Inc. at $45 per share. You are very pessimistic about the machine tool industry, so you sell short 300 shares of King Tools Corporation at $55. Each transaction requires a 50 percent margin balance.

a. What is the initial equity in your account?

b. Assume the price of each stock is as follows for the next three months (month-end). 

Compute the equity balance in your account for each month:

	Month
	Microtech Inc.
	King Tools Corp.

	October
	$51
	$48

	November
	39
	62

	December
	37
	40


3-6.
a)
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b)
Monthly gain or loss in margin and new equity balance.
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New equity balance $12,750 + $3,300 = $16,050
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New equity balance $16,050 − $6,600 = $9,450




[image: image15.wmf]December

MicrotechLoss($37$39)200$400

KingToolsGain($62$40)3006,600

NetGain$6,200

-´=-

-´=




New equity balance $9,450 + $6,200 = $15,650

Commission percentage

7. Lisa Loeb is considering buying 100 shares of CMA Record Company. The price of the shares is $52. She has checked around with different types of brokers and has been given the following commission quotes for the trade: online broker, $7; discount broker, $45; full-service broker, $98.

a. Compute the percentage commission for all three categories.

b. How many times larger is the percentage commission of the full-service broker compared with the online broker? Round two places to the right of the decimal point for this answer.

3-7.
a)
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b)
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c)
It is lower than yield to maturity because it does not take into consideration the fact that the bond price will increase from $839.27 to $1,000 over the next 15 years. This increases the yield to maturity.

Computing tax obligations

8. Compute the tax obligation for the following using Table 3–1 on page 52.

a. An individual with taxable income of $59,000.

b. A married couple with taxable income of $130,000.

c. What is the average tax rate in part b?
3-8.
a.
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b.
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c.
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Capital gains tax

9. Gill Thomas is in the 35 percent tax bracket. Her long-term capital gains tax rate is 15 percent. She makes $16,200 on a stock trade. Compute her tax obligation based on the following holding periods:

a. 6 months.

b. 14 months.

3-9.

Holding Period 
Profit

Tax Rate
Taxes


a.
6 months

$16,200
35%

$5,670


b.
14 months

$16,200
15%

$2,430

Selling short and capital gains

10. Al Rodriguez sells 500 shares of Gold Mine Corp. short at $80 per share. The margin requirement is 50 percent. The stock falls to $62 over a three-month time period, and he closes out his position.

a. How much is his initial margin?

b. What is his percentage gain or loss on his initial margin?

c. If he is in a 35 percent tax bracket for short-term capital gains and a 15 percent bracket for long-term capital gains, what is his tax obligation?

d. If the stock went up to $94 instead of down to $62, what would be his dollar loss?

e. Assuming this is his only transaction for the year (2007), how large a tax deduction could he take against other income?
3-10.
a)
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b)
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c)
Since he only had the position for three months, he must treat the profit as a short-term capital gain. This means it will be taxed at 35 percent.
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d)
Loss ($80 - $94) ( 500 = ($7,000)


e)
The maximum tax write-off in any one year for net investment losses is $3,000. That is the maximum amount A1 can write off in the year of the loss.


Sidenote: the remaining $4,000 can be carried forward into the future.

Price-weighted average

11. There are three stocks in a price-weighted index:

A
$100

B
20

C
60

a. What is the average value for the index?

b. Assume stock A goes down by 25 percent and stock B goes up by 25 percent, and stock C remains the same. What is the new average value for the index?

c. Explain why in part b the average changed with two stocks moving up and down by the same percentage amount.

3-11.
a.
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b.
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c.
The price-weighted average gives a higher weighting to high priced stocks than to low priced stocks. Thus the 25 percent decline on the $100 stock had a greater impact than the 25 percent rise on the $20 stock.

Computing an index

12. Assume the following five companies are used in computing an index:
	Company
	Shares Outstanding
	Base Period January 1, 1984 Market Price
	Current Period December 31, 2007 Market Price

	A
	6,000
	$ 6
	$12

	B
	2,000
	5
	18

	C
	10,000
	8
	40

	D
	1,000
	20
	10

	E
	4,000
	15
	32


a. If the index is price weighted, what will be the value of the index on December 31, 2007? (Take the average price on December 31, 2007, and divide by the average price on January 1, 1984, and multiply by 100.)

b. If the index is value weighted, what will be the value of the index on December 31, 2007? (Take the total market value on December 31, 2007, and divide by the total market value on January 1, 1984, and multiply by 100.)

c. Explain why the answer in part b is different from the answer in part a .

3-12.
a)
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Alternative Calculation
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b)


Base Period


Current Period

Shares
Market
Total
Market
Total

Company
Outstanding
Price
Value
Price
Value

A
6,000
6
$36,000
$12
$72,000

B
2,000
5
10,000
18
36,000

C
10,000
8
80,000
40
400,000

D
1,000
20
20,000
10
10,000

E
4,000
15
60,000
32
128,000




$206,000

$646,000
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c)
Stock C with a fivefold increase in price was heavily weighted in Part b. Stock D with a 50 percent decline was lightly weighted in Part B (yet it was important in Part a). These factors help to explain why the value-weighted index in Part b produced a higher answer than the price-weighted index in Part a.

Changing index values in a value-weighted index

13. Assume the following stocks make up a value-weighted index:
	Corporation
	Shares Outstanding
	Market Price

	Reese
	  4,000
	$35

	Robinson
	16,000
	    4

	Snider
	  6,000
	   10

	Hodges
	40,000
	   20


a. Compute the total market value and the weights assigned to each stock. Round to two places to the right of the decimal point. (The weights may add up to slightly more than 100 percent due to rounding.)

b. Assume the price of the shares of the Snider Corporation go up by 50 percent, while those of the Hodges Corporation go down by a mere 10 percent. The other two stocks remain constant. What will be the newly established value for the index?

c. Explain why the index followed the pattern it did in part b.

3-13.
a)


Shares
Market
Total Value

Corporation
Outstanding
Price

Weight

Reese
4,000
$35
$140,000
13.16%

Robinson
16,000
4
64,000
6.02

Snider
6,000
10
60,000
5.64

Hodges
40,000
20
800,000
75.19




$1,064,000
100.01%





or





approx. 100%


b)

Shares
Market Price
Total Value

Corporation
Outstanding

Reese
  4,000
$35
  $140,000

Robinson
16,000
    4
      64,000

Snider
  6,000
  15*
      90,000

Hodges
40,000
  18**
    720,000



$1,014,000


*$10 ( 150% = $15


**$20 ( 90% = $18
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c)
Hodges Corporation has an initial weight of 75.19 percent in the index, while Snider Corporation is only weighted as 5.64 percent. Therefore, a 10 percent decline in Hodges Corporation’s stock turns out to be more important than the 50 percent gain in Snider Corporation’s stock.

Changing index values in a value-weighted index

14. In problem 13, if the initial price of the shares of the Snider Corporation double while those of the Hodges Corporation go down by 7.5 percent, would the value of the index change? The other two stocks remain constant. Do the necessary computations.

3-14.
Compute the new total value of the index.


Shares
Market
Total

Corporation
Outstanding
Price
Value

Reese
  4,000
$35
$   140,000

Robinson
16,000
    4
       64,000

Snider
  6,000
  20*
     120,000

Hodges
40,000
  18.50**
     740,000




$1,064,000
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The value of the index would remain unchanged. Once again the heavy weighting of the Hodges Corporation in comparison to the Snider Corporation tends to overcome price change differentials.

Chapter 3 Solution to the Investment Advisor Problem

a) Her loss from the initial purchase price is $1.53 ($25.00 – $26.53). Based on 400 shares, this represents $612.

$1.53
Loss per share

x   400
Number of shares
   $612
Total loss
Thus, her current margin is down to $4,388.


  Initial Margin

$5000


  Loss

       
        –    612 

  Current margin

$4,388

b) Percent loss on initial margin = 
[image: image34.wmf]$612 ÷ $5000 = 12.24%

c) First find the expected value of the future price of the stock.

60% x $28 = $16.80

40% x $21 =     8.40
Expected Value  
  $25.20

While this is greater than the price at which she shorted the stock ($25), more importantly it is lower than the current price of the stock ($26.53).

Based on the expected value, she should continue to maintain the short position (Assuming the probabilities are correct and that Carol can withstand the pressure.)
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